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1. Inthe maasurer.a-nt 10000 kg, the nurnber of significant figures ls: A) i, B)3, C) 4, D)'S ...........
2. The magnilude o: relative eror helps lo measuro the: A) precislon ofa me.asurement
B) accuracy of a icasurement, ) both ALB, D) n0ne Of ESE  cvvvveevriririsrmiims i
9. Commulative law is obeyed by: A) sublraction of veclors, B) addition of vec{ors,
C) cross-product ci two veclors, D) all of hese wuemnienscummmmnssssnseen Veredesaesss A s ERY
-4,  Whatis the anglz cetween A and B for which IA BI ]AXBI? A) 30°, B) 450, C)60°, D) g0
For a hody, if the valocily-lime grdph isa slralght Ilna parallel to the time axis, acc.uteratmn Is:
A) positive, B) negalive,v&f zer, D) Variable e s
6. For which of the falowing pairs of angles, a pm]eclue has the same range? A) 300, 709,
Uﬂ) 250 650 C) 5 J 600 D) 100 mp nnnnnnn ‘ll; |||||||||||||||||||||||||||||||||||||||||||||||||||||||||||| l‘llllll"ll!ll'l!lll; llllll LiTI1)
7. In Sritish Engineering system the unit of power ls called horse power and nurneﬁcally 1 hp '
- Is equal l0,.&) 745 wall, B) 74.6 walt, C) 746 walt, D) 0.746 wall ......... eSS s
8. The almosphere |s held to the carth by: A) wmds‘/B) gravity, C) clouds, D) the rotation of earth
9. A hoop, rolling dov.1 on a frictionless Inclined plane has 20 ]oules K.E of rotation, lts K.E of L
transiallon will be: 4) 10 4B 20 J, €} 30, D) A0 smssssiospugrmsssusimgrsnnmonas
10, Drag force produc 5 A) positive accalerahonyﬁ' nvgalwe acceleralon, C)no accaierahon. o
D) none of these ......... et ———oS eI EE OSSR R RSO AR RAEAISR PRI R R S R bESSRASE R BITE P YRS
11. At resonance, the umplilude of vibration becomes very large when damplng st
~A) small, B) mediun, C) heavy. D) AlHESO evvminsmsiesscsssnesssnens e
12. The time period of a slmple pendulum is 2 seconds. 1{ Its lenglh is mcreaiée_d by 4 limes,-
then its period beceines: A) 16 sec, B) 12 sec, C) 8560, D) 4580 uicrsimisnmrmmasneemisssssisins
13. Awave generator . aduces 00 pulses In 10 scconds. The period of the generalor is:
A) 2 sec, B) 0.2 sen, C) 0.02 sec, D)OOOZsec ............................................. EI———
14. Which one of the fc.\owing factars has no effect on the spaed of sound in & gas? &) humidjly,
B) pressure, C) te..peralure, D) (IS — ——————— OOV ,
15, The principle of Yourg's double slits experimant Is based on the dision of; A amphtude.
. B)frequency, C) voloclly, D) wavelangth T——— rarinnen SRR N— .
16. Tha tip of a needie Jogs not glve a sharp lmage Il is dug lo: A) polarization, B) mte:forence '
_ C) diffraction, D) re‘faction
11,

The latent heat of f-<ion of ice in St units Is: A) 335, 1) 3360, C) 336000, D) 36000 ...............
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. Altemplany ten of the following. All Carcy e-:;udl .:;'nJHxs.
i

ORI B

Maris:

Whal doss dimansion of a physical quantity mean’?” Explain what ae its

- applicalions and limitations?

vil,

viil,

Xk,
xii,

xili,

Explain with the help of an example, wnal Is the range 6f possibic vaiie of
the rusultant uf-two vectors?

Explain why do huses and heavy tiucks have lacge steering wheols?

Motion with conslant velocity is a spacial case of motion with constant

" acceleralion. s this stalemant true? Discuss.

State and explain the law of oonservanon of linear momentum.

. Aman rowing boat Upsstream is at rest with respect to shora. ls ha dolng '

work? Explaln, -

When an arrow is shot from its bow, it has KE. From where does Il get the KE?

|s it possible for a persen to distinguish between raw egg and a hard baoiled
one by spinning each on a lable? Explaln

Why does 'lhe pipe of a paper 5quUeozes whien air is blown through (?
What Is simple pendulum? Show that moelion of simple pendulum s SHM
Discuss the effects of various factors on speed of sound in air, -

Derive the Bragg's law. Whatls the significanca of this law?

Why does the pressure of the air in automobile tyre increase if the avtomobile
ls driven for a while?

secﬂON-c
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NOTE Atternpt any three of the followmg quesl[ons Al quashons catry equal malks

2

Exp.am Newton's laws of moUon. T o :

A constant lorce F changes the speed of 80 kg spiinter from 3ms" lo 4ms ! ln
0.5 s. Cak;ulate Ule acceleration ot the spnnler

What is congervative force? Show that gravitational forca is conservative.

A 70 kg athlete runs upslairs in 4 s. The vertical helght of stairs Is 4.5 m.
Calculate his power.

Explain any two applications of Bemoulii's equation.

Calculale the speed of efilux of kerosene oil from a narrow hoke of a tank, In -
which pressure Is 4 atm. Densily of kerosene oilis 0.72 kg m,
(amm103x105pa) o . r

Define he molar heat capacnUesC and C, for a gas. Show that for an ideal
gas G~ C =R

. Whatiis the change in internal energy of 200g of nitrogen as 1t Is heated from

10°C to 30°C at constanl volume? For N, Cv=20.815. mola~Tk!,



